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Prove that:

111 1 \/E 1
1=ffj dedydz=8x/§log(2)—64< _ )
000

Jx+y 3
X\y,z
Proposed by Ankush Kumar Parcha-India
Solution by Togrul Ehmedov-Azerbaijan

111
log(x+y) log(x+2z) log(z+y)
[=jjj{ + + dxdydz =

500 Jx+y Vx+z Jz+y
L 1l (x+y) Lo 1log(x+z)
og
= dxd dz+fff—dxd dz =
.[.[.[ x+y y Vx+z y
000 000
111l (z+y) 111lo(x+)
o
+]jjudxdydz=3]ff & Y dxdydz =
Jz+y x+y
000 000

1
I= 12] f log(m) dmdx =
0

1
-~ 12 f{\/_x TTlog(vi 1) - VX 71— vxlog(vx) + vx}dx =
ozﬁ 16vV2 16 V2-1
o S

—3 log(2) - ——+ ?} = 8v210g(2) — 64 (




